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1 Evaluate
1,14
(@ 24+1%,
5 3 3
(b) S-=+3
8 8 4
Answer:  (a)....cccocrieiiiiii 1]
L) A ——————————— [1]
2 (a) Express 65% as a fraction in its lowest terms.
(b) The operation * is defined over R by x*y = (x—y)?. Find 2*3.
ATTSWEE! (A5 u sares swms ssws sems s smie s e s yeoe v [1]
(B)...cn e oo s smamnan s s s v 1]
3 Express 0.0245 in scientific notation correct to 2 significant figures.

ANSWEN: e [2]
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(a) Find the exactvalue of 16 — (3 +7)+2 + 6 x 3.
(b) Express 0.06 as a common fraction in its lowest terms.

AnsSwer: (a).......cccceeevviiiiiiiie e [1]

PQRST is a regular pentagon. QR and TS are produced to meet at U. Calculate
ZRUS.

Answer: ZRUS=............cccccooviiiiieeiininn, [2]

Given thatp = -2, g=8 and r = 12, evaluate
@@ r-q,
(b) o -pr,

(¢ Ha.

ANSWETE A) 1 s coms i s s 5508 1555 S i v i 1]
() ncscemm o g g i o s [1]
(¢ ——— U [1]
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7 It is given that V varies inversely as the square of t. Some corresponding values
of V and t are given in the table below.
t 2 5 b
\ 25 a Ya
Find the values of k (the constant of variation), a and b.
BOSWOTS o v s s s i spwsiguen immmsss sosisiasins [1]
S s siune sl S S5 s U T S A 35 [1]
D= s (1]
8 Solve the simultaneous equations

2x = 5y,
X—2y=3.

Answer: x=

Mathematics/4024/1/22008
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(a) A setP has 16 subsets. Find n(P). Use
(b)  On the Venn diagram in the answer space, shade the region represented
by P'N Q.
Answer: (@) ..o 1]
E
Q
P
(b) [2]
10  Given that f(x) =12 — 3x, find
(@  f(=3),
(b)  f7(=3).
BNSWETE (3) - ovmmm i cn e s st me s [1]
(B) oo [2]
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11 A box contains blue, green, black and red marbles. Given that P(green)=§,
P(red)=1 and P(black):1
4 5

(a) Find P(blue).

(b) Find the least number of marbles that must be in the box to suit these
probabilities.

Answer: (@) ... [2]

12 (a) Factorise completely 3h*~12h.

(b) If two men can dig a well in 3 days, how many more men are needed if the
work is to be completed in 2 days and working at the same rate?

Answer: (@) ..., [1]

Mathematics/4024/1/Z220¢
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(@) In the diagram below, AC is a straight line, BC=9cm, BD=15cm and

Sin ABD=0.6. Calculate the area of triangle BCD.

7
62'07

C 9cm

(b) Forthe sequence 1,4,7, ...., find the 20" term.
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14 (a) Find the value of 3/-8.

(b} On a certain day, the exchange rate was US$1 to K3 750 and British £1 to
K5 250. Based on these rates, what would be the cost, in dollars, of a car

costing £9007?

Answer: () .....ccooooeiiiiiiii,

Mathematics/4024/1/22009




15 (a) Solve the equation

6x—1=—2—.
X

Page 9 of 14

(b) In the diagram below, AE, BF and CG are straight lines. CG is parallel to DF,

ZEDF=119° and ZABF=100°.

F
G
H
1005 \19°
A B c D E
Calculate

(i) ZACG,

(i) «£GHF.
Answer: (a) x=
(b) (i).
(ii)

Mathematics/4024/1/22009
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Find column vector m such that

()G

(i) Hence find |m].

16 (a) (i)

-1
(b) Given that K% = ( 9 J find_lﬁ\ in component form.

Answer: (@) (i) oo [2]
(1) oo [1]
(11

2 03 15
17 (a) Given that -4 |= , find the value of m and n.
0 3 n 1 2

(b) (i) Complete the figure below so that it is symmetrical about AB.

[1]

(ii) State the order of rotational symmetry of a regular hexagon.

Answer:(a) m=..........coiiiiiiiiinnn [1]
D= e e 11
(b) (). 1

Mathematics/4024/1/22009



18 (a) Inthe diagram below, AB = 7cm and AP = xcm.

P B
| |
¥ |

A
L xcm
1

Find x, if AP = 3PB.

8
(b) The translation vector (1 2] maps the point (n+3, 2) onto (2n—4, 14). Find

the value of n.

Page 11 of 14

........................................... 2]
(B) N =, [2]
19  For the inequality §<§ find
(a) the least positive integer x,
(b) the greatest negative integer x satisfying this inequality.
Answer: (@) X= oo [2]
(b) X= e, [2]

Mathematics/4024/1/22009
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20 (a) Giventhatx~y =7 and that x*— y*= 21, find the value of x and the value of y.

(b) A die is rolled ten times giving the following scores
2,5,3,1,4,6;2:1,2, 2

Find
(i) the median score,

(ii) the mean score.

Answer: (a) x=............. Y e [3]
1 .5) ) P —— M
(11) e e s e i 55 553 2 25 1

21 (a) (i) A cyclist arrived at town K from town L after a journey lasting 1 72 hours.
What time did he start off from L if he arrived at 10 10 hours?

(i) If the cyclist's average speed was 6km/h, what is the distance between K
and L?

(b) Two towns lie on the same meridian. Find the difference in latitudes
between these two towns if they are 200 nautical miles apart.

Answer:(a) (i) .o 1

Mathematics/4024/1/22009
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22 The diagram shows the velocity-time graph of a particle during a period of t vse
seconds.
A
30

{not drawn to scale)
20 k2]

Velocity m/s

10 1

25 t time(s)

Calculate
(a) the acceleration of the particle in the first 10 seconds,
(b) the value of t, if it travelled 50m from the 20" second,

(c) the average speed of the particle for the whole journey.

Answer:(a) ... [1]
CEBY: o vt s e s i i e [2]
(€]  <oom s e wnnm e smem e [2]
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23 Cans are often arranged as shown below, in some shops.

Row 1

Row 3

(a) Complete the table in the answer space.

(b) Write down a formula for the number of cans, C, in terms of n.
(c) Ifthere are 10 rows, how many cans are there altogether?

(d) How many rows would be needed to display 78 cans?

Answer:(a) No.ofrows(n) |1 {2 |3 |4

No.of Cans (C) |1 |3 |6 (M
1) T 2]
[0S T [1]
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